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8.4.1
| 16 | O O
18 19 20 21
(A) 5,112 9,440 3,499 3,500
: 0 0 0 0
A e 2855  arrs| 20 0
2,557 4,662 1,759 3,500
(B) 1.00 1.00 1.00 1.50
(C)= ><(B) 8,161 8,269 8,269 12,404
(©)
(D)=(A)+(C)+(C" 13,273 17,709 11,768 15,904
(E)=(D)/ 6,637 5,903 5,884 #DIV/0!
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2 2
0 0
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8.5.2
| 16 | O O
18 19 20 21
A 50 4,763 9,012 10,675
: 2,399 2,550
N so]  a7e3| 6613 8,125
(B) 0.05 0.07 0.40 0.40
©)= > (B) 408 579 3,308 3,308
(©)
(D)=(A)+(C)+(C") 458 5,342 12,320 13,983
(E)=(D)/ 10 254 333 #DIV/0!
18 19 20 21
21 37
48 50 40
18 48
19 5 16 50
20 23 14 40
18 19 20 21
60 90 100 125
48 71 77
19 20
26 50
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294m 16m ( 3.5m 2 809
20 2 6
8.4.2 3421
| 19 | O O
18 19 20 21
(A) 24,268 14,869 83,999 899,828
; 0 0 27,902 405,150
§ 31,500 352,200
§ 7434 7,000 137,535
: 24,268 7,435 17,597 4,943
(B) 1.00 1.00 1.00 150
(€)= > (B) 8,161 8,269 8,269 12,404
()
(D)=(A)+(C)+(C") 32,429 23,138 92,268 912,232
(E)=(D)/ #DIV/0! #DIV/0! 3,182 1,357
18 19 20 21
29 672
m 0 0
18 19 20 21
0 10 17
0 1
0 0
0
26 49 32 20
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750m 12m
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21 22
8.4.2 3510
| 20 | O O
21 22 23 27
A 30,100 207,000 277,320 1,377,200
; 0 43,000 124,160 504,100
T 30000 164000 153,160] [> """"" 873100
(B) 1.00 1.00 1.00
©)= > (B) 8,269 8,269 8,269 0
(©)
(D)=(A)+(C)+(C") 38,369 215269 285,589 1,377,200
(E)=(D)/ #DIV/0! 742 393 592
21 22 23 27
290 726 |:'> 2,325
m 0 0 750
21 22 23 27
0 12 44 100
0 0 0 [> 100
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O
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O
770 16 3.5
8.4.2 3411
| 12 | O O
18 19 20 21
(A) 931,623 744,285 664,800 241,612
: 916,237 718,942 652,489 239,896
e isass| 2 T 1714
(B) 1.50 1.50 150 150
(€)= > (B) 12,242 12,404 12,404 12,404
(©)
(D)=(A)+(C)+(C") 943,865 756,689 677,204 254,016
(E)=(D)/ 421 595 722 924
18 19 20 21
2,244 1,272 938 275
m 0 90 0 0
18 19 20 21
61 80 100 100
77 85 98
13 13 0
12 12
14 15
26 26 49 32 20
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8.4.2 3413
| 11 | O O
18 19 20 21
A 192,288 318,265 13,825 5,629
: 190,181 292,057 13,207 1,164
e 2107 26208 3T 4,465)
(B) 1.50 1.50 1.50 1.50
(€)= < (B) 12,242 12,404 12,404 12,404
(©)
(D)=(A)+(C)+(C") 204,530 330,669 26,229 18,033
(E)=(D)/ 605 432 #DIV/0! 3,005
18 19 20 21
338 765
m 0 70
18 19 20 21
86 90 100 100
70 99 99
56 56 56 56
30 66 66
)
14 15
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| 7 | O O 0O
18 19 20 21
(A) 180,042 229,104 69,762 249,466
; 33,477 33,225 0 87,496
§ 65,600 52,500 137,800
i 68,000 24,000
: 80,965 143,379 1,762 170
(B) 2.00 2.00 150 150
(€)= > (B) 16,322 16,538 12,404 12,404
()
(D)=(A)+(C)+(C") 196,364 245,642 82,166 261,870
(E)=(D)/ 3,068 #DIV/0! #DIV/0! 803
18 19 20 21
64 0 326
104 230 0
18 19 20 21
89 89 94 97
93 93 93
43 83 83 83
43 83 83
14 15
26 26 49 32 20
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A) 0 129,080 284,642 221,157
: 50,060 143,830 40,000
: 0 69,540 46,442 131,877
(B) 0.50 0.50 0.50
(C)= =< (B) 0 4,135 4,135 4,135
(©)
(D)=(A)+(C)+(C") 0 133,215 288,777 225,292
(E)=(D)/ #DIV/0! 239 343 239
18 19 20 21
557 843 42
0 94 0
19 123 434
20 118 254 589 118 21 3
21 226 42 394
18 19 20 21
0 7 15 20
0 8 19
0 0
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0
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(B) 0.30 0.30 0.50
(€)= > (B) 2,481 2,481 4,135 0
(©)
(D)=(A)+(C)+(C" 77,481 102,481 62,135 0
(E)=(D)/ 77,481 204,961 124,269 #DIV/0!
21 22 23
1 0.5 0.5 |:>
20 21 4
22 23 5
21 22 23
1 0.5 0.5
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(A) 41,304 37,738 36,211 60,000
T Tazoa| s7738|  se2un| 60,000)
(B) 0.75 0.75 0.75 1.20
(C)= > (B) 6,121 6,202 6,202 6,202
(©)
(D)=(A)+(C)+(C" 47,425 43,940 42,413 66,202
(E)=(D)/ 1,437 1,627 2,356 #DIV/0!
18 19 20 21
33 27 18
0
21 150
18 19 20 21
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2,012 1,625 1,868
0 0
0
2
26 26

ROOO™




00

00

g o & 0 O O

8-2-8

1-2

= 0 0 & 0 0O

poopood




8-3-1

1-2
O
|
21 6 12
840 447,390 42,000
13 22 2
400 57,000
| 21 0 O O
21 22 23
(A) 489,390 57,000
"""""""""""""""""""""""""""""""""""" a893%( 570000 0 [>
(B) 0.30 0.30
(C)= ><(B) 2,481 2,481 0 0
)
(D)=(A)+(C)+(Ch 491,871 59,481 0 0
(E)=(D)/ 491,871 59,481 #DIV/0! #DIV/0!
21 22 23
1 1 |:>
840 400
21 840 22 400
21 22 23
22,134 271,150
410 370 |:>
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4
| 22 O o 0O
21 22 23 2 6
(A) 1575 50,000 134,795
0 1575 50,000 |:> 134,795
&) 002 0.2 012
(©)= (B) 0 165 165 992
©)
(D)=(A)+(C)+(C) 0 1,740 50,165 135,787
(E)=D)/ #DIV/0! #VALUE! 100 86
21 22 23 2 6
1 1 ['> 1
ha - 500 1,585
21 22 23 2 6
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